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Example 1
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Weneed to help the project team identify anomalies. Still need to do our own outlier

rejection for even themost basic analysis.



Example 2: L2 KaRIn

Cross−Track Separation:
10−20 km
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Cross−Track Separation:
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Peaks in the cross-track coherence are (more-or-less) consistent with expectactions

for propagating low-mode internal tides near Hawaii.



Example 3a: L2 Nadir

Pass = 4, −30o to −15o lat, N=125
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Pass = 21, 15o to 30o lat, N=128
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Example 3b: L2 Nadir

Pass = 5, −30o to −15o lat, N=132
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Pass = 8, −30o to −15o lat, N=52

M2

N2

M4

10−4

0.001

0.01

0.1

P
S

D
 [

m
2
 d

a
y
]

0.01 0.1
frequency [day−1]


